5.4:  The derivative of y=sin (x) and y=cos (x)

If f(x) = sin (x)    then f’(x) = cos (x)

If g(x) = cos (x)  then g’(x) = -sin (x)

[image: image1.jpg]@)





Draw the tangent to the curve at 0, pi/2,  pi, 3pi/2, and 2pi.   Estimate the slopes of these 5 tangent lines.    How do they remind you of the cosine function?

If f(x) = sin (f(x))    then f’(x) = cos (f(x)) · f’(x)

If g(x) = cos (f(x))  then g’(x) = -sin (f(x)) · f’(x)

1. Determine the derivative of the following:

a)  y = cos (4x)

b)   y = x2 · sin x  (use product rule)

c) y =  4sin(x2)

d) y = cos(2x+x4)

e)  y =  2 sinx –cosx



2. Determine the equation of the tangent line to the graph of y=sin2x + cos x at x = π /2 

3.  Determine the equation of the tangent line to the graph of y = x2 sin4x at x = π.  

3. Determine the maximum and minimum values of the function f(x) = 2cos2(x) on the interval xЄ[0,2π]

4.  Complete Examples 1,3,4,5,6 in the textbook starting on page 251

5. Homework:  pg 257 #1-11
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